B°
.
of

e

ul

A




o
rlo
I
|
2
,
N
N,
ol
E
lo
Ll
0,
Mo
P
1A
i
O

:
"
o,
rlo
s,
o

@4;9:>994401]EH'§H] @ 7:10= 710
® 3:8= 3789 H| @ 6:7= 6% 7] gt H|
® 2:5=50°] tigt29] H]

@ 4:92 49] 90] T3t AU},




® 1ol B9 2ol BTNz B

® (95F) = (FHA]5) x2x3.14

A5l g B vE-S AF-golet Fick,
22 BE YA ST,




1@0

@ A7te

1@.0

_XE

on
do

<R

HE
ol

BH
of

N




5 AR ke 247 Fal0] @-02) AL T L.

5. 14 5 25
S ©5+7
1 5 24 11
1 S = 122 i
© @ 33 ® 17 @35 ® 200
@§;E 5,3 _2 1
7735 7714 14 14
5 25 5 4 1
O3+ T 5" 1
2t O-0O
1 _ 55 7 _ 48 A
14 10 70 70 70 35




(=2l iee]

o

ul il

A A




3l4pe]

ol

7.

o]

ARk}

olatel, o] FAto] A

]
|
[am)
=
a1
X0

90 x 5 = 450("9)
450 — 90 = 360(9)

)

& A %

_9‘:_]_
("ol A 4)

(A




o
()
)
i
)
H1
ofls
]I,O

o] o] Edle] Polg FatAlL.

\VARR 4
0x
n

26.84.cm

1Uch. o] =3 9] {o|7} 37.68 cm?

[ Ix[ ]x314x Z = 37.68
[ Ix[]x2.355 = 37.68

[ ]x[ ]=37.68+2355
DXI:’: 16

D: 4 cm

=9 : <4><2><3.14><§1)+4+4

X

= 18.84 + 8 = 26.84( cm)




|

1

: 4 ‘

: 6 cm | |

! : : 5cm

! ’

o _d__ ! !

’ \ ! /

’ 1 [ AN

) 4cm ) !
/ /. / /3cm
~4cm- ~ocm -

> CF Cm2
> mg 18 cm?
A A 24

£l

my HR m

4x4=16(cm?)
(44+4+4+4)x6=096(cm?)
) =16 x 2 + 96 = 128( cm?)

A A-sHA

0o 0 o &

)

) =(5+3+5+3)x5=_80(cm?)
) =15x2+ 80 = 110( cm?)
whebA] Ay o]9] AH= 128 - 110 = 18( cm?)

g e
of, ®f @t rE gt gt st rE




10. Thee wieale] $ol 2 AR A2 7)5E HAT A
A

o2 g

5 2 3 .3 4
9573 Oy ©57F
D 6,0 0 ® &,©.0 6)0. 6. ©
® 0,66 ®© 0.6
52 5 3 5
O 3 62 12 '
3 3 11 8
Ou-lg=7*u=?
4..4,1_1
©F+8=5xg=1- 0
watq o] 2 ARE A 752 YdsH ©, @, ©

et




